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QUESTION 1

The hardware faults of an engine node in an N8500 storage system do not include which of the following?
A. Cluster node faults

B. Fibre Channel interface card faults

C. RAID card faults

D. Power and fan faults

Correct Answer: C

QUESTION 2
What are the reasons for rapid development of the enterprise cloud storage? (Choose all that apply.)
A. Enterprises have strong demands or resource pooling, shorten product go-to-market time, and reduced cost.

B. Storing service data to the cloud can reduce the possibility of misoperation and malicious theft compared to storing
the data on the local PC.

C. Enterprise cloud storage can help improve the performance and reliability of typical or new applications.

D. For typical scenarios such as VSI, VDI, and big data, enterprise cloud storage conserves more storage space,
provides larger bandwidth, and enhances compatibility between virtual machines (VMs).

Correct Answer: ACD

QUESTION 3

Which of the following statements about the application scenarios of different nodes of the HUAWEI OceanStor 9000
big data storage systems is correct?

A. The mini-capacity node applies to small-capacity scenarios.

B. The performance node applies to large-capacity and high-bandwidth scenarios.
C. The capacity node applies to OPS-intensive scenarios.

D. None of the above is correct.

Correct Answer: A

QUESTION 4

Neither online nor offline software version upgrade of Huawei OceanStor 9000 affects device management.
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A. True

B. False

Correct Answer: B

QUESTION 5

Huawei OceanStor 9000 can notify users of alarms by sending emails and short messages.
A. True

B. False

Correct Answer: A
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